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UccneaoBaTb —
noaBepratb Hay4YHoOMYy
N3y4YeHUIo Unun HadnraaTb
ANnA BbIACHEHUA, N3y4YeHUn

yero-nmobo
(crioeapb C.U.Oxezo08a)



59 x (3 =78 x 29 axB=Bxa
(38+45) + 25 = 38 +(45+25) (atB)+c=a+(B+C)
(B+3) x 2. = .8 x2+ 0.x2 (a+B)xc=axc+BxC

(14 x 5)x2=14x(5x2) (axB)xc=ax(BxC)



OUKTaHT

\ViaTemaTuyeckum



27,15,8,9,24,6,7, 32

8 27
9 15
6 24
7 32



YMHOXeHue
MHOTO3HAYHOTro YUCIa
Ha OnHO3HAYHoE




27 X 3

27 x 3 =27 +27 + 27 =
27 x 3 = (9x3)x3 = Ix(3x3) =
27x3=(9+9+9)x3=9x3+9Ix3+9x3=:

27 x3=(9+8+7+3)x3=
=9 x3+8x3+7x3+3x3=






YMHOXeHue
MHOTO3HAYHOro Ymucra
Ha O0HO3HAYHoE




X:5=16 y:3=15

y:2=16 X:5=15

y:2=48 X:4=23

X :3=48 y:2=23
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